ALGEBRAI REVIEW Chapter 10 Name F\f Y ‘

USE YOUR 10.1-10.3 QUIZ FOR REVIEW AS WELL!! \]
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FROM SECTION 10.1

MAJOR POINTS:
e Tree Diagrams
Fundamental Counting Principle
Permutations
Factorial
Permutations with Repetition

Each event can occur in the given number of ways. Find the number of ways all of the events
can occur.

Event1:6ways  Event2:7ways  Event 3: 4 ways (g e “l - Uo'g

For the given configuration, determine how many different computer passwords are possible
if (a) digits and letters can be repeated, and (b) digits and letters cannot be repeated.

3 digits followed by 4 letters
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If the last letter of the password has to be a Y or Z, and no repeats are allowed, how many passwords
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Find the number of distinguishable permutations of the letters in the word.

ot
MISSISSIPPI m '-\\ )J \34 Lo )

A baseball manager is determining the batting order for the team. The team has 9 members,
but the manager definitely wants the pitcher to bat last. How many batting orders are

possible?
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A men's department store sells 3 different suit jackets, 6 different shirts, 8 different ties, and 4
different pairs of pants. How many different suits consisting of a jacket, shirt, tie, and
pants are possible?
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FROM SECTION 10.2

MAJOR POINTS:

Combinations

Deciding to multiply or add combinations

When finding the number of ways both an event A and an event B occur you need to multiply
When finding the number of ways both an event A or an event B occur you need to add

Find the number of combinations. Jo youw Cuow baws 4o 46
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Find the number of possible 5 - card hands that contain the cards specified. The cards are
taken from a standard 52 - card deck.

5 red cards 4 spades and 1 card that is not a spade
3 face cards (K, Q, or J) and 2 cards that are not face cards At least one king
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Expand (x - 5y)°
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Find the coefficient of x° in the expansion of (2x + 3
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A teacher is holding tryouts for the school play. There are 15 students trying out for 7 parts in the
play. Each student can play each part. In how many ways can the teacher select the

students?

FROM SECTION 10.3

MAJOR POINTS:
Finding Probability of Events/ Theoretical Probability

Drawing a 6 from a deck of cards?
. 4.9 . 4.
Drawing all 4 queens from a deck of cards? 53 "Sa 3a Sa

Drawing a factor of 10 (any suit)
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Experimental Probability

Odds against
Odds in favor
Geometric Probability
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Drawing a black card from a deck of cards?

Rolling an odd number on a die?
Drawing a 3 from a deck of cards?

Drawing a club from a deck of cards?

Drawing a red factor of 9
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Drawing a heart from a deck of cards?

Drawing a 7 from a deck of cards?

Rolling an even number on a die?

Drawing 3 cards that are all 9 from a deck of cards?

Drawing a red card from a deck of cards?

Rolling a 6 on a die?
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Drawing a 5 from a deck of cards?

In favor of rolling a 67

2 l
Against rolling a 1, 3, or 57 % 2 /l
P
In favor of picking all the 4's from a deck of cards? (PN
12
Against picking all the Jacks? |

Revisit geometric probability!! Check your notes or HW

ALSO:

If you toss a coin 100 times to determine the probability of getting tails are you using
experimental or theoretical probability? Why?
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If you answer a test question about the chance of drawing a heart out of a deck of
cards as 1/13 are you using experimental or theoretical probability? Why?

~ tweonekica . ~ wan priov lcmou)led%b
' VoY condu n/j B i :
FROM SECTION 10.4

MAJOR POINTS: You need to know: P(A or B) = P(A) + P(B) — P(A and B)

e Probability of Disjoint Events
e Probability of Overlapping Events

e Applying Formula of P(A or B)

e Finding probability of complements and applying formula

Events A and B are disjoint. Find P(A or B).

P(A)=01 P(B)=045 P(AorB)= 55|

Find the indicated probability.
P(A)=023 P(B)=036 P(AorB)=025 PAandB)= 7_)“"
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Two six - sided dice are rolled. Find the probability of the given event (use pg. 709).

The sum is greater than 4 The sum is 6
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The sum is neither 5 nor 9 The sum is greater than 7ess than 11
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FROM SECTION 10:
MAJOR POINTS:

e Independent Events and applying formula
e Dependent Events and applying formula

Events A and B are independent. Find the indicated probability.
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PE) = P(B) = 0.3
P(AandB) =| %4 P(A and B) = 0.3

Events A and B are dependent. Find the indicated probability.

P(A) =04 P(A) = 0.3 X1 - 2
P(BJA) = 0.4 (BJA) =2 .9 ) o
P(AandB)q |, P(Aand B) = 0.27
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The students at DHS were asked to name their favorite lunch entrée. The results are shown in
the table below:

Freshman Sophomore Juniors Seniors TOTAL
Pizza 105 105 110 130 450
Hamburger 75 65 65 80 285
Burritos 100 125 115 85 425
TOTAL 280 295 290 295 1160
Find the following probabilities as fractions (o) T
R A4S g%
P (senior | student who prefers hamburgers) 2895 | Sﬁ
l 4 a3
P (student who prefers burritos | junior) 2{0 538
P (senior | junior) 05
What is the school’s favorite entrée? PfZZCA- J
TWO cards are drawn from a well — shuffled deck of playing cards
Find the probability of:
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b) Two aces if the first card is not replaced %3' &P \ (a ; L
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¢) Which pair of events is independent?

FROM SECTION 10.6

MAJOR POINTS:

e Constructing and interpreting a probability distribution
e Constructing and interpreting Binomial distributions
e Classifying distribution - symmetric or skewed

Calculate the probability of tossing a coin 25 times and getting the given number of heads.
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Calculate the probability of k successes for a binomial experiment consisting of n trials with
probability p of successes on each trial.

k23, n=5 p=034
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A survey states that 35% of people in the US visited an art museum in a certain year. You
randomly select 10 U.S. citizens. What is the probability that at most 4 people visited an

art museum?
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You should be well prepared!!!
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